
SAP ABAP table TBZ0M {BDT Activities}

TBZ0M

CLIENT [CLNT (3)]

OBJAP [CHAR (4)]

ACTION [CHAR (2)]

AKTYP [CHAR (2)]

MSGID [CHAR (20)]

MSGNO [CHAR (3)]

T000

MANDT [CLNT (3)] TBZ0M-CLIENT = T000-MANDT 0..N

1

T100

SPRSL [LANG (1)]

ARBGB [CHAR (20)]

MSGNR [CHAR (3)]
 TBZ0M-MSGNO = T100-MSGNR 0..N

1 T100A

ARBGB [CHAR (20)]

 TBZ0M-MSGID = T100A-ARBGB 
0..N1

TBZ0K

AKTYP [CHAR (2)]

 TBZ0M-AKTYP = TBZ0K-AKTYP 

0..N

1

TBZ1

CLIENT [CLNT (3)]

OBJAP [CHAR (4)]

 TBZ0M-OBJAP = TBZ1-OBJAP 

0..N

1


